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Fact Families (Addition & Subtraction) Name:
Deter mine which letter best representsthe missing fact from the fact family. Answers
1) 8+79=87 2) 469 + 298 = 767 3) 10+7=17
79+8=87 298 + 469 = 767 7+10=17 1
87-8=79 767 - 469 = 298 17-10=7
2.
A.79+87=8 A. 767 - 298 = 469 A l7-7=7
B.88-79=9 B. 767 + 298 = 1065 B.11+7=18 3.
C.87-79=8 C. 469 + 767 = 298 C.7+17=10
D.87-8=8 D. 768 - 298 = 470 D.17-7=10 a.
5.
4) 53+30=83 5) 878+ 81=0959 6) 3+13=16
30+53=83 81 + 878 = 959 13+3=16 6.
83-53=30 959-878 =81 16-3=13
7.
A.30-83=53 A. 878 +959 =81 A.16-13=3
B.83-30=53 B. 959 + 81 = 1040 B.16-3=3 8.
C.83+30=113 C.959-81=878 C.29-3=26
D.83-53=53 D. 879 + 81 = 960 D.3+16=13 .
10.
7) 11+85=96 8) 363+ 74 =437 9) 8+6=14
85+ 11 = 96 74 + 363 = 437 6+8=14 1L
96-11=85 437-363="74 14-8=6
12.
A.97-85=12 A.511- 363 =148 A.14-6=8
B.96-85=11 B. 74 - 437 = 363 B.6+14=8
C.181-11=170 C.364 +74=438 C.6-14=8
D.11+96=85 D. 437 - 74 = 363 D.14-6=6
10) 78+16=94 11) 760+ 10=770 12) 16+2=18
16+ 78 =94 10+ 760 =770 2+16=18
94-78=16 770-760=10 18-16=2
A.94-16=78 A.770-10=760 A.18-2=2
B.79+16=95 B. 760+ 770=10 B.16+18=2
C.110-78=32 C.780-760=20 C.2-18=16
D.94-16=16 D.770+10=780 D.18-2=16
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Fact Families (Addition & Subtraction) Name: Answer Key
Deter mine which letter best representsthe missing fact from the fact family. Answers
1) 8+79=87 2) 469 + 298 = 767 3) 10+7=17
79+8=87 298 + 469 = 767 7+10=17 1 C
87-8=79 767 - 469 = 298 17-10=7
87-79=8 767 - 298 = 469 17-7=10 2. A
A.79+87=8 A. 767 - 298 = 469 A.17-7=7
B.88-79=9 B. 767 + 298 = 1065 B.11+7=18 3. D
C.87-79=8 C. 469 + 767 = 298 C.7+17=10
D.87-8=8 D. 768 - 298 = 470 D.17-7=10 s _ B
5 C
4) 53+30=83 5) 878+ 81 =959 6) 3+13=16
30 +53=83 81 + 878 = 959 13+3=16 6. __A
83-53=230 959 - 878 = 81 16-3=13
83-30=53 959 - 81 = 878 16-13=3 7. B
A.30-83=53 A. 878+ 959 = 81 A.16-13=3
B.83-30=53 B. 959 + 81 = 1040 B.16-3=3 8. D
C.83+30=113 C.959- 81 =878 C.29-3=26
D.83-53=53 D. 879 + 81 = 960 D.3+16=13 . A
10. A
7) 11+85=96 8) 363+ 74 =437 9) 8+6=14
85+ 11 = 96 74 + 363 = 437 6+8=14 n_ A
96-11=85 437-363=74 14-8=6
96-85=11 437 - 74 = 363 14-6=8 2_ D
A.97-85=12 A.511 - 363 =148 A.14-6=8
B.96-85=11 B. 74 - 437 = 363 B.6+14=8
C.181-11=170 C.364+ 74=438 C.6-14=8
D.11+96=85 D. 437 - 74 = 363 D.14-6=6
10) 78+ 16=94 11) 760+ 10= 770 12) 16+2=18
16 + 78 = 94 10 + 760 = 770 2+16=18
94-78=16 770- 760 =10 18-16=2
94-16=78 770- 10 = 760 18-2=16
A.94-16=78 A.770- 10 =760 A.18-2=2
B.79+16=95 B. 760 + 770 = 10 B.16+18=2
C.110-78=32 C. 780 - 760 = 20 C.2-18=16
D.94-16=16 D. 770+ 10 =780 D.18-2=16
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